# CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

AGENDA DATE: November 23, 2021
PUBLIC HEARING DATE: Not Applicable

#### **CONTACT PERSON(S) NAME AND PHONE NUMBER:**

Sam Rodriguez, Chief Operations and Transportation Officer, Aviation Director

and City Engineer, (915) 212-1845

Bruce D. Collins, Director of Purchasing & Strategic Sourcing, (915) 212-1181

**DISTRICT(S) AFFECTED:** 6 & 7

**STRATEGIC GOAL:** No. 7 – Enhance and Sustain El Paso's Infrastructure Network

**SUBGOAL:** 7.2 – Improve competitiveness through infrastructure improvements impacting the

quality of life

#### SUBJECT:

The award of solicitation 2021-0989 Playa Drain Trail Phase II to TAO INDUSTRIES INC., dba HAWK Construction for a total estimated award of \$435,247.43.

#### BACKGROUND / DISCUSSION:

This project consists of construction of a new pedestrian trail, including trail amenities, providing ADA accessibility, and landscape and irrigation improvements. The project improvements include: erosion controls; traffic controls; accessible pedestrian ramps and improvements at Whittier Street, Prado Drive and Elvin Way / Davis Drive and improvements to existing roadway curbs; roadway crosswalks, roadway, trail striping and signs; construction of trail monument columns, picnic tables, benches, and trash receptacles; plain and colored concrete walk paving, including fixed and collapsible bollards; landscape and irrigation improvements, which includes new water meters for the irrigation system. Access to all properties must be provided during construction.

#### **SELECTION SUMMARY:**

Solicitation was advertised on June 1, 2021, June 8, 2021 and June 15, 2021. The solicitation was posted on City website on June 1, 2021. The email (Purmail) notification was sent out on June 3, 2021. There was a total of fifty-eight (58) viewers online; five (5) bids were received; all from local suppliers.

#### **CONTRACT VARIANCE:**

N/A

#### **PROTEST**

No protest received for this requirement.

#### **PRIOR COUNCIL ACTION:**

N/A

#### **AMOUNT AND SOURCE OF FUNDING:**

Amount: \$435,247.43

Funding Source: Federal Highway Administration, 2011 Certificates of Obligation, and 2018 Certificates of

Obligation

Account: 190-4950-38170-580270-PCP21TRAN01 Account: 190-4530-28330-580270-PCP21TRAN01 Account: 190-4741-38290-580270-PCP21TRAN01

# 

# COUNCIL PROJECT FORM (Low Bid)

# 

Please place the following item on the **REGULAR AGENDA** for the Council Meeting of **October 26, 2021**.

#### STRATEGIC GOAL 7 - Enhance and Sustain El Paso's Infrastructure Network

The linkage to the Strategic Plan is subsection 7.2 - Improve competitiveness through infrastructure improvements impacting the quality of life.

#### Award Summary:

Discussion and action on the award of solicitation 2021-0989 Playa Drain Trail Phase II to TAO INDUSTRIES INC., dba HAWK Construction for an estimated award of \$435,247.43. This project consists of construction of a new pedestrian trail, including trail amenities, providing ADA accessibility, and landscape and irrigation improvements.

Department: Capital Improvement

Award to: TAO INDUSTRIES INC., dba HAWK Construction

El Paso, TX

Item(s): Base Bid

Initial Term: 145 Standard Work Weeks

Base Bid I: \$435,247.43 Total Estimated Award: \$435,247.43

Funding Source: Federal Highway Administration, 2011 Certificates of Obligation, and 2018

Certificates of Obligation

Account: 190-4950-38170-580270-PCP21TRAN01 Account: 190-4530-28330-580270-PCP21TRAN01 Account: 190-4741-38290-580270-PCP21TRAN01

District(s): 6 & 7

This is a Low Bid procurement, unit price contract.

The Purchasing & Strategic Sourcing and Capital Improvement Departments recommend award as indicated to TAO INDUSTRIES INC., dba HAWK Construction., the lowest responsive and responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.

|     | 2021-0989 Playa Drain Trail Phase<br>Bid Tab Summary      | e II               |  |  |  |  |  |  |  |
|-----|---|--------------------|--|--|--|--|--|--|--|
| No. | Bidder  | Sum Total Base Bid |  |  |  |  |  |  |  |
| 1   | 1 TAO Industries, Inc. dba Hawk Construction \$435,247.43 |                    |  |  |  |  |  |  |  |
| 2   | Martinez Bros Contractors, LLC                            | \$487,537.04       |  |  |  |  |  |  |  |
| 3   |   |                    |  |  |  |  |  |  |  |
| 4   | 4 Del Mar Contracting, Inc. \$611,303.25                  |                    |  |  |  |  |  |  |  |
| 5   | 5 Black Stallion Contractors, Inc. \$906,102.99           |                    |  |  |  |  |  |  |  |





BID TITLE: Playa Drain Trail Phase II
BID NO: 2021-0989

| BID DA | TE: June 30, 2 | :021       |   |      |                | II.            |                   | ı           |                 | DEPARTN     | IENT: Capital Imp | rovement    |
|--------|----------------|------------|---|------|----------------|----------------|-------------------|-------------|-----------------|-------------|-------------------|-------------|
|        |                |            |   |      |                | Black Stallion | Contractors, Inc. | Del Mar Cor | ntracting, Inc. | Hawk Co     | enstruction       |             |
|        |                |            |   |      |                | EI P           | aso, TX           | EI Pa       | so, TX          | El Pa       | ıso, TX           |             |
|        |                |            |   |      |                | BIDDE          | ER 1 OF 5         | BIDDE       | R 2 OF 5        |             | R 3 OF 5          |             |
|        | ITEM-Co        | de         |   |      | _              |                |                   |             |                 |             |                   | DEPT        |
| No.    | Item<br>No.    | S.P<br>No. | BRIEF DESCRIPTION OF ITEM               | UNIT | Approx<br>Qty. | Unit Price     | Total Amount      | Unit Price  | Total Amount    | Unit Price  | Total Amount      | USE<br>ONLY |
|        |                |            |   | '    | BASE BII       | D I UNIT PRICI | E SCHEDULE        |             |                 |             |                   |             |
|        |                |            |   |      | TXD            | OT CSJ: 0924   | 4-06-602          |             |                 |             |                   |             |
| 1      | 500 6001       |            | MOBILIZATION                            | LS   | 1              | \$41,500.90    | \$41,500.90       | \$30,000.00 | \$30,000.00     | \$35,000.00 | \$35,000.00       |             |
| 2      | 100 6002       |            | PREPARING ROW                           | STA  | 35             | \$4,375.00     | \$153,125.00      | \$1,500.00  | \$52,500.00     | \$223.34    | \$7,816.90        |             |
| 3      | 110 6001       |            | EXCAVATION (ROADWAY)                    | CY   | 242            | \$25.00        | \$6,050.00        | \$120.00    | \$29,040.00     | \$16.64     | \$4,026.88        |             |
| 4      | 132 6002       |            | EMBANKMENT (FINAL)<br>(DENS CONT)(TY C) | CY   | 829            | \$62.50        | \$51,812.50       | \$30.00     | \$24,870.00     | \$14.96     | \$12,401.84       |             |
| 5      | 170 6001       |            | IRRIGATION SYSTEM                       | LS   | 1              | \$66,875.00    | \$66,875.00       | \$58,000.00 | \$58,000.00     | \$41,722.68 | \$41,722.68       |             |
| 6      | 192 6015       |            | LANDSCAPE EDGE                          | LF   | 2,403          | \$19.38        | \$46,570.14       | \$12.50     | \$30,037.50     | \$12.21     | \$29,340.63       |             |
| 7      | 192 6017       |            | VEGETATION BARRIER                      | SY   | 715            | \$6.25         | \$4,468.75        | \$2.20      | \$1,573.00      | \$2.07      | \$1,480.05        |             |
| 8      | 192 6044       |            | PLANT MATERIAL<br>(MIN 2" CAL)(B&B)     | EA   | 58             | \$687.50       | \$39,875.00       | \$440.00    | \$25,520.00     | \$417.82    | \$24,233.56       |             |





BID TITLE: Playa Drain Trail Phase II
BID NO: 2021-0989

| BID DA | ATE: June 30, 2 | 2021       |   |      |                |                |                       |             |                    | DEPARTN    | IENT: Capital Imp  | rovement |
|--------|-----------------|------------|---|------|----------------|----------------|-----------------------|-------------|--------------------|------------|--------------------|----------|
|        |                 |            |   |      |                | Black Stallion | Contractors, Inc.     | Del Mar Cor | ntracting, Inc.    | Hawk Co    | enstruction        |          |
|        |                 |            |   |      |                |                | Paso, TX<br>ER 1 OF 5 |             | so, TX<br>R 2 OF 5 | ll .       | so, TX<br>R 3 OF 5 |          |
|        | ITEM-Co         | de         |   |      |                |                |                       |             |                    |            |                    | DEPT     |
| No.    | Item<br>No.     | S.P<br>No. | BRIEF DESCRIPTION OF ITEM                   | UNIT | Approx<br>Qty. | Unit Price     | Total Amount          | Unit Price  | Total Amount       | Unit Price | Total Amount       | USE      |
|        |                 |            |   |      | BASE BII       | O I UNIT PRIC  | E SCHEDULE            |             |                    | I          |                    |          |
|        |                 |            |   |      | TXD            | OT CSJ: 092    | 4-06-602              |             |                    | I          |                    | II.      |
| 9      | 192 6046        |            | PLANT MATERIAL<br>(MIN 3" CAL)(B&B)         | EA   | 31             | \$962.50       | \$29,837.50           | \$700.00    | \$21,700.00        | \$655.31   | \$20,314.61        |          |
| 10     | 193 6001        |            | PLANT MAINTENANCE                           | МО   | 12             | \$2,312.50     | \$27,750.00           | \$150.00    | \$1,800.00         | \$157.27   | \$1,887.24         |          |
| 11     | 247 6041        |            | FL BS (CMP IN PLC)<br>(TYA GR1-2)(FNAL POS) | CY   | 466            | \$65.00        | \$30,290.00           | \$75.00     | \$34,950.00        | \$43.86    | \$20,438.76        |          |
| 12     | 310 6018        |            | PRIME COAT & BLOTTER<br>(CSS-1H)            | GAL  | 560            | \$12.50        | \$7,000.00            | \$7.00      | \$3,920.00         | \$11.06    | \$6,193.60         |          |
| 13     | 340 6122        |            | D-GR HMA(SQ) TY-D PG70-22                   | TON  | 308            | \$150.00       | \$46,200.00           | \$105.00    | \$32,340.00        | \$108.03   | \$33,273.24        |          |
| 14     | 502 6001        |            | BARRICADES, SIGNS AND<br>TRAFFIC HANDLING   | МО   | 8              | \$5,625.00     | \$45,000.00           | \$2,500.00  | \$20,000.00        | \$629.10   | \$5,032.80         |          |
| 15     | 506 6020        |            | CONSTRUCTION EXITS (INSTALL) (TY 1)         | SY   | 444            | \$8.75         | \$3,885.00            | \$10.00     | \$4,440.00         | \$14.99    | \$6,655.56         |          |
| 16     | 506 6024        |            | CONSTRUCTION EXITS (REMOVE)                 | SY   | 444            | \$3.75         | \$1,665.00            | \$3.00      | \$1,332.00         | \$9.27     | \$4,115.88         |          |





BID TITLE: Playa Drain Trail Phase II
BID NO: 2021-0989

|     | 11E: June 30, 2 | · · ·      |                                       |      |                | Black Stallion | Contractors, Inc.     | Del Mar Cor | ntracting, Inc.    |            | nstruction         | . Overnent |
|-----|-----------------|------------|---------------------------------------|------|----------------|----------------|-----------------------|-------------|--------------------|------------|--------------------|------------|
|     |                 |            |                                       |      |                | EI P           | Paso, TX<br>ER 1 OF 5 | El Pa       | so, TX<br>R 2 OF 5 | El Pa      | so, TX<br>R 3 OF 5 |            |
|     | ITEM-Co         | de         |                                       |      | _              |                |                       |             |                    |            |                    | DEPT       |
| No. | Item<br>No.     | S.P<br>No. | BRIEF DESCRIPTION OF ITEM             | UNIT | Approx<br>Qty. | Unit Price     | Total Amount          | Unit Price  | Total Amount       | Unit Price | Total Amount       | USE        |
|     |                 |            |                                       |      |                | D I UNIT PRIC  |                       |             |                    | "          |                    |            |
|     |                 |            |                                       |      | TXC            | OT CSJ: 092    | 4-06-602              |             |                    | I          |                    | II         |
| 17  | 506 6038        |            | TEMP SEDMT CONT FENCE<br>(INSTALL)    | LF   | 4,380          | \$6.25         | \$27,375.00           | \$2.50      | \$10,950.00        | \$3.47     | \$15,198.60        |            |
| 18  | 506 6039        |            | TEMP SEDMT CONT FENCE<br>(REMOVE)     | LF   | 4,380          | \$2.50         | \$10,950.00           | \$1.00      | \$4,380.00         | \$0.96     | \$4,204.80         |            |
| 19  | 529 6008        |            | CONC CURB & GUTTER (TY II)            | LF   | 90             | \$25.00        | \$2,250.00            | \$15.00     | \$1,350.00         | \$25.86    | \$2,327.40         |            |
| 20  | 529 6032        |            | CONCRETE GUTTER (MODIFIED)            | LF   | 90             | \$25.00        | \$2,250.00            | \$15.00     | \$1,350.00         | \$25.86    | \$2,327.40         |            |
| 21  | 531 6024        |            | CURB RAMPS (TY 7)                     | EA   | 2              | \$1,250.00     | \$2,500.00            | \$2,500.00  | \$5,000.00         | \$847.11   | \$1,694.22         |            |
| 22  | 531 6036        |            | CURB RAMPS (TY 2)(MOD)                | EA   | 3              | \$1,500.00     | \$4,500.00            | \$2,500.00  | \$7,500.00         | \$1,896.85 | \$5,690.55         |            |
| 23  | 644 6001        |            | IN SM RD SN SUP&AM<br>TY10BWG(1)SA(P) | EA   | 4              | \$1,187.50     | \$4,750.00            | \$950.00    | \$3,800.00         | \$539.97   | \$2,159.88         |            |
| 24  | 644 6068        |            | RELOCATE SM RD SN SUP&AM<br>TY 10BWG  | EA   | 3              | \$437.50       | \$1,312.50            | \$600.00    | \$1,800.00         | \$209.70   | \$629.10           |            |





|     |                        |            |  |      |                | EI P           | Contractors, Inc. | El Pa      | ntracting, Inc.<br>so, TX<br>R 2 OF 5 | El Pa      | enstruction<br>aso, TX<br>R 3 OF 5 |                     |
|-----|------------------------|------------|--|------|----------------|----------------|-------------------|------------|---------------------------------------|------------|------------------------------------|---------------------|
| No. | ITEM-Co<br>Item<br>No. | S.P<br>No. | BRIEF DESCRIPTION OF ITEM                    | UNIT | Approx<br>Qty. | Unit Price     | Total Amount      | Unit Price | Total Amount                          | Unit Price | Total Amount                       | DEPT<br>USE<br>ONLY |
|     |                        |            |  |      | BASE BII       | D I UNIT PRICI | E SCHEDULE        |            |                                       |            |                                    |                     |
|     |                        | <u> </u>   |  |      | TXD            | OT CSJ: 092    | 4-06-602          |            |                                       |            |                                    |                     |
| 25  | 666 6045               |            | REFL PAV MRK TY I<br>(W)18"(SLD)(100MIL)     | LF   | 200            | \$18.75        | \$3,750.00        | \$6.50     | \$1,300.00                            | \$15.04    | \$3,008.00                         |                     |
| 26  | 666 6099               |            | REF PAV MRK TY I(W)18"(YLD<br>TRI)(100MIL)   | EA   | 16             | \$50.00        | \$800.00          | \$125.00   | \$2,000.00                            | \$19.92    | \$318.72                           |                     |
| 27  | 666 6205               |            | REFL PAV MRK TY II (Y) 4" (BRK)              | LF   | 1,765          | \$1.88         | \$3,318.20        | \$0.75     | \$1,323.75                            | \$1.77     | \$3,124.05                         |                     |
| 28  | 1005 6002              |            | LOOSE AGGREGATE FOR<br>GROUNDCOVER (TYPE II) | CY   | 153            | \$125.00       | \$19,125.00       | \$86.00    | \$13,158.00                           | \$82.30    | \$12,591.90                        |                     |
| 29  | ELP2 6001              |            | PICNIC TABLE                                 | EA   | 3              | \$3,875.00     | \$11,625.00       | \$3,000.00 | \$9,000.00                            | \$2,145.76 | \$6,437.28                         |                     |
| 30  | ELP3 6001              |            | PARK BENCH                                   | EA   | 6              | \$3,500.00     | \$21,000.00       | \$2,800.00 | \$16,800.00                           | \$1,859.25 | \$11,155.50                        |                     |
| 31  | ELP4 6001              |            | TRASH RECEPTACLE                             | EA   | 2              | \$4,250.00     | \$8,500.00        | \$3,200.00 | \$6,400.00                            | \$2,173.80 | \$4,347.60                         |                     |
| 32  | ELP5 6001              |            | COLLAPSIBLE BOLLARDS                         | EA   | 12             | \$1,562.50     | \$18,750.00       | \$950.00   | \$11,400.00                           | \$1,128.57 | \$13,542.84                        |                     |
| 33  | ELP6 6001              |            | FIXED BOLLARDS                               | EA   | 32             | \$1,250.00     | \$40,000.00       | \$840.00   | \$26,880.00                           | \$667.24   | \$21,351.68                        |                     |





BID TITLE: Playa Drain Trail Phase II
BID NO: 2021-0989

| BID D | ATE: June 30, 2 | 021                              |                                     |      |                |                |                   |             |                | DEPARTM    | IENT: Capital Imp | rovement    |
|-------|-----------------|----------------------------------|-------------------------------------|------|----------------|----------------|-------------------|-------------|----------------|------------|-------------------|-------------|
|       |                 |                                  |                                     |      |                | Black Stallion | Contractors, Inc. | Del Mar Cor | tracting, Inc. | Hawk Co    | nstruction        |             |
|       |                 |                                  |                                     |      |                | EI P           | aso, TX           | El Pa       | so, TX         | El Pa      | so, TX            |             |
|       |                 |                                  |                                     |      |                | BIDDE          | R 1 OF 5          | BIDDE       | R 2 OF 5       | BIDDEI     | R 3 OF 5          |             |
|       | ITEM-Co         | de                               |                                     |      |                |                |                   |             |                |            |                   | DEPT        |
| No.   | Item<br>No.     | S.P<br>No.                       | BRIEF DESCRIPTION OF ITEM           | UNIT | Approx<br>Qty. | Unit Price     | Total Amount      | Unit Price  | Total Amount   | Unit Price | Total Amount      | USE<br>ONLY |
|       |                 |                                  |                                     |      | BASE BI        | D I UNIT PRIC  | E SCHEDULE        |             |                |            |                   |             |
|       |                 |                                  |                                     |      | TXE            | OT CSJ: 092    | 4-06-602          |             |                |            |                   |             |
| 34    | ELP7 6001       |                                  | COLORED CONCRETE PAVING (6")        | SY   | 72             | \$93.75        | \$6,750.00        | \$110.00    | \$7,920.00     | \$101.75   | \$7,326.00        |             |
| 35    | ELP8 6001       |                                  | CONCRETE SIDEWALK PAVING (6")       | SY   | 120            | \$93.75        | \$11,250.00       | \$59.00     | \$7,080.00     | \$62.11    | \$7,453.20        |             |
| 36    | ELP9 6001       |                                  | MINOR STONE COLUMN                  | EA   | 3              | \$2,250.00     | \$6,750.00        | \$1,500.00  | \$4,500.00     | \$1,048.49 | \$3,145.47        |             |
| 37    | ELP10 6001      |                                  | DISTANCE MARKERS                    | EA   | 2              | \$875.00       | \$1,750.00        | \$950.00    | \$1,900.00     | \$746.04   | \$1,492.08        |             |
| 38    | ELP11 6001      |                                  | WAYFINDING SIGNS                    | EA   | 3              | \$875.00       | \$2,625.00        | \$950.00    | \$2,850.00     | \$745.87   | \$2,237.61        |             |
| 39    | ELP13 6001      |                                  | FIBER REINFORCED CONCRETE<br>HEADER | LF   | 6,714          | \$13.75        | \$92,317.50       | \$13.50     | \$90,639.00    | \$7.38     | \$49,549.32       |             |
|       |                 | Su                               | m Total (Base Bid and Mobilization) |      |                |                | \$906,102.99      |             | \$611,303.25   |            | \$435,247.43      |             |
|       |                 | Amendment Acknowledged           |                                     |      |                |                | Yes               |             | lo             | Y          | es                |             |
|       |                 | Amendment Acknowledged  Bid Bond |                                     |      |                |                | Yes               | Y           | es             | Yes        |                   |             |





BID TITLE: Playa Drain Trail Phase II BID NO: 2021-0989

| BID DA | TE: June 30, 2 | 2021       |   |      |                |             |                       |             |                    | DEPARTI    | MENT: Capital Imp | rovement |
|--------|----------------|------------|---|------|----------------|-------------|-----------------------|-------------|--------------------|------------|-------------------|----------|
|        |                |            |   |      |                |             | nstruction I, Ltd.    |             | Contractors, LLC   |            |                   |          |
|        |                |            |   |      |                |             | Paso, TX<br>ER 4 OF 5 |             | so, TX<br>R 5 OF 5 |            |                   |          |
|        | ITEM-Co        | de         |   |      | _              |             |                       |             |                    |            |                   | DEPT     |
| No.    | ltem<br>No.    | S.P<br>No. | BRIEF DESCRIPTION OF ITEM               | UNIT | Approx<br>Qty. | Unit Price  | Total Amount          | Unit Price  | Total Amount       | Unit Price | Total Amount      | USE      |
|        |                |            |   |      |                |             | E SCHEDULE            |             |                    | <u> </u>   |                   |          |
|        |                | ı          |   |      | TXD            | OT CSJ: 092 | 4-06-602              |             |                    |            | I                 |          |
| 1      | 500 6001       |            | MOBILIZATION                            | LS   | 1              | \$21,632.20 | \$21,632.20           | \$24,150.00 | \$24,150.00        |            |                   |          |
| 2      | 100 6002       |            | PREPARING ROW                           | STA  | 35             | \$302.00    | \$10,570.00           | \$71.30     | \$2,495.50         |            |                   |          |
| 3      | 110 6001       |            | EXCAVATION (ROADWAY)                    | CY   | 242            | \$39.00     | \$9,438.00            | \$17.25     | \$4,174.50         |            |                   |          |
| 4      | 132 6002       |            | EMBANKMENT (FINAL)<br>(DENS CONT)(TY C) | CY   | 829            | \$18.00     | \$14,922.00           | \$43.81     | \$36,318.49        |            |                   |          |
| 5      | 170 6001       |            | IRRIGATION SYSTEM                       | LS   | 1              | \$53,000.00 | \$53,000.00           | \$32,780.00 | \$32,780.00        |            |                   |          |
| 6      | 192 6015       |            | LANDSCAPE EDGE                          | LF   | 2,403          | \$15.50     | \$37,246.50           | \$4.13      | \$9,924.39         |            |                   |          |
| 7      | 192 6017       |            | VEGETATION BARRIER                      | SY   | 715            | \$3.00      | \$2,145.00            | \$2.69      | \$1,923.35         |            |                   |          |
| 8      | 192 6044       |            | PLANT MATERIAL<br>(MIN 2" CAL)(B&B)     | EA   | 58             | \$528.00    | \$30,624.00           | \$370.00    | \$21,460.00        |            |                   |          |





BID TITLE: Playa Drain Trail Phase II
BID NO: 2021-0989

| BID DA | TE: June 30, 2 | 2021       |   |      |                |               |                    |                 |                  | DEPARTI    | MENT: Capital Imp | rovement |
|--------|----------------|------------|---|------|----------------|---------------|--------------------|-----------------|------------------|------------|-------------------|----------|
|        |                |            |   |      |                | Horizone Co   | nstruction I, Ltd. | Martinez Bros ( | Contractors, LLC |            |                   |          |
|        |                |            |   |      |                | EIF           | aso, TX            | El Pa           | so, TX           |            |                   |          |
|        |                |            |   |      |                | BIDDI         | ER 4 OF 5          | BIDDE           | R 5 OF 5         |            |                   |          |
|        | ITEM-Co        | de         |   |      | _              |               |                    |                 |                  |            |                   | DEPT     |
| No.    | ltem<br>No.    | S.P<br>No. | BRIEF DESCRIPTION OF ITEM                   | UNIT | Approx<br>Qty. | Unit Price    | Total Amount       | Unit Price      | Total Amount     | Unit Price | Total Amount      | USE      |
|        |                |            |   |      | BASE BII       | D I UNIT PRIC | E SCHEDULE         |                 |                  |            |                   |          |
|        |                |            |   |      | TXD            | OT CSJ: 092   | 4-06-602           |                 |                  |            |                   |          |
| 9      | 192 6046       |            | PLANT MATERIAL<br>(MIN 3" CAL)(B&B)         | EA   | 31             | \$827.00      | \$25,637.00        | \$615.00        | \$19,065.00      |            |                   |          |
| 10     | 193 6001       |            | PLANT MAINTENANCE                           | МО   | 12             | \$199.00      | \$2,388.00         | \$650.00        | \$7,800.00       |            |                   |          |
| 11     | 247 6041       |            | FL BS (CMP IN PLC)<br>(TYA GR1-2)(FNAL POS) | CY   | 466            | \$62.00       | \$28,892.00        | \$61.76         | \$28,780.16      |            |                   |          |
| 12     | 310 6018       |            | PRIME COAT & BLOTTER<br>(CSS-1H)            | GAL  | 560            | \$8.00        | \$4,480.00         | \$23.00         | \$12,880.00      |            |                   |          |
| 13     | 340 6122       |            | D-GR HMA(SQ) TY-D PG70-22                   | TON  | 308            | \$151.00      | \$46,508.00        | \$113.85        | \$35,065.80      |            |                   |          |
| 14     | 502 6001       |            | BARRICADES, SIGNS AND<br>TRAFFIC HANDLING   | МО   | 8              | \$3,900.00    | \$31,200.00        | \$1,265.00      | \$10,120.00      |            |                   |          |
| 15     | 506 6020       |            | CONSTRUCTION EXITS (INSTALL) (TY 1)         | SY   | 444            | \$14.00       | \$6,216.00         | \$18.40         | \$8,169.60       |            |                   |          |
| 16     | 506 6024       |            | CONSTRUCTION EXITS<br>(REMOVE)              | SY   | 444            | \$7.00        | \$3,108.00         | \$10.35         | \$4,595.40       |            |                   |          |





BID TITLE: Playa Drain Trail Phase II BID NO: 2021-0989

| BID DA | TE: June 30, 2 | 021        |                                       |      |                |               |                      |                 |                    | DEPARTI    | MENT: Capital Imp | rovement    |
|--------|----------------|------------|---------------------------------------|------|----------------|---------------|----------------------|-----------------|--------------------|------------|-------------------|-------------|
|        |                |            |                                       |      |                | Horizone Co   | nstruction I, Ltd.   | Martinez Bros ( | Contractors, LLC   |            |                   |             |
|        |                |            |                                       |      |                |               | aso, TX<br>ER 4 OF 5 |                 | so, TX<br>R 5 OF 5 |            |                   |             |
|        | ITEM-Co        | de         |                                       |      |                |               |                      |                 |                    |            |                   | DEPT        |
| No.    | Item<br>No.    | S.P<br>No. | BRIEF DESCRIPTION OF ITEM             | UNIT | Approx<br>Qty. | Unit Price    | Total Amount         | Unit Price      | Total Amount       | Unit Price | Total Amount      | USE<br>ONLY |
|        |                |            |                                       |      |                | D I UNIT PRIC |                      | <u> </u>        |                    | II         |                   | 14          |
|        |                | <u> </u>   | I                                     |      | TXD            | OT CSJ: 092   | 4-06-602             | I .             |                    | I          | Ī                 | II          |
| 17     | 506 6038       |            | TEMP SEDMT CONT FENCE<br>(INSTALL)    | LF   | 4,380          | \$3.00        | \$13,140.00          | \$2.50          | \$10,950.00        |            |                   |             |
| 18     | 506 6039       |            | TEMP SEDMT CONT FENCE<br>(REMOVE)     | LF   | 4,380          | \$1.30        | \$5,694.00           | \$2.00          | \$8,760.00         |            |                   |             |
| 19     | 529 6008       |            | CONC CURB & GUTTER (TY II)            | LF   | 90             | \$25.00       | \$2,250.00           | \$17.25         | \$1,552.50         |            |                   |             |
| 20     | 529 6032       |            | CONCRETE GUTTER (MODIFIED)            | LF   | 90             | \$22.00       | \$1,980.00           | \$17.25         | \$1,552.50         |            |                   |             |
| 21     | 531 6024       |            | CURB RAMPS (TY 7)                     | EA   | 2              | \$1,435.00    | \$2,870.00           | \$920.00        | \$1,840.00         |            |                   |             |
| 22     | 531 6036       |            | CURB RAMPS (TY 2)(MOD)                | EA   | 3              | \$1,425.00    | \$4,275.00           | \$977.50        | \$2,932.50         |            |                   |             |
| 23     | 644 6001       |            | IN SM RD SN SUP&AM<br>TY10BWG(1)SA(P) | EA   | 4              | \$725.00      | \$2,900.00           | \$241.50        | \$966.00           |            |                   |             |
| 24     | 644 6068       |            | RELOCATE SM RD SN SUP&AM<br>TY 10BWG  | EA   | 3              | \$560.00      | \$1,680.00           | \$299.00        | \$897.00           |            |                   |             |





BID TITLE: Playa Drain Trail Phase II
BID NO: 2021-0989

|     | ATE: June 30, 2 |            |  |      |                | Horizone Co | nstruction I, Ltd. | Martinez Bros | Contractors, LLC                                |            | WENT: Capital Imp |      |
|-----|-----------------|------------|--|------|----------------|-------------|--------------------|---------------|---|------------|-------------------|------|
|     |                 |            |  |      |                |             | Paso, TX           |               | so, TX  |            |                   |      |
|     |                 |            |  |      |                |             | ER 4 OF 5          |               | R 5 OF 5  |            |                   |      |
|     | ITEM-Co         | de         |  |      | _              |             |                    |               |   |            |                   | DEPT |
| No. | Item<br>No.     | S.P<br>No. | BRIEF DESCRIPTION OF ITEM                    | UNIT | Approx<br>Qty. | Unit Price  | Total Amount       | Unit Price    | Total Amount                                    | Unit Price | Total Amount      | USE  |
|     |                 |            |  |      |                |             | E SCHEDULE         |               |   |            |                   |      |
|     |                 |            |  |      | TXD            | OT CSJ: 092 | 4-06-602           |               |   | I          |                   | u    |
| 25  | 666 6045        |            | REFL PAV MRK TY I<br>(W)18"(SLD)(100MIL)     | LF   | 200            | \$19.00     | \$3,800.00         | \$1.84        | \$368.00  |            |                   |      |
| 26  | 666 6099        |            | REF PAV MRK TY I(W)18"(YLD<br>TRI)(100MIL)   | EA   | 16             | \$25.00     | \$400.00           | \$402.50      | \$6,440.00                                      |            |                   |      |
| 27  | 666 6205        |            | REFL PAV MRK TY II (Y) 4" (BRK)              | LF   | 1,765          | \$2.50      | \$4,412.50         | \$1.38        | \$2,435.70<br>Contractor's<br>Price: \$2,432.70 |            |                   |      |
| 28  | 1005 6002       |            | LOOSE AGGREGATE FOR<br>GROUNDCOVER (TYPE II) | CY   | 153            | \$104.00    | \$15,912.00        | \$91.55       | \$14,007.15                                     |            |                   |      |
| 29  | ELP2 6001       |            | PICNIC TABLE                                 | EA   | 3              | \$4,800.00  | \$14,400.00        | \$3,680.00    | \$11,040.00                                     |            |                   |      |
| 30  | ELP3 6001       |            | PARK BENCH                                   | EA   | 6              | \$3,700.00  | \$22,200.00        | \$2,530.00    | \$15,180.00                                     |            |                   |      |
| 31  | ELP4 6001       |            | TRASH RECEPTACLE                             | EA   | 2              | \$3,800.00  | \$7,600.00         | \$2,070.00    | \$4,140.00                                      |            |                   |      |
| 32  | ELP5 6001       |            | COLLAPSIBLE BOLLARDS                         | EA   | 12             | \$1,650.00  | \$19,800.00        | \$1,437.50    | \$17,250.00                                     |            |                   |      |
| 33  | ELP6 6001       |            | FIXED BOLLARDS                               | EA   | 32             | \$900.00    | \$28,800.00        | \$782.00      | \$25,024.00                                     |            |                   |      |





BID TITLE: Playa Drain Trail Phase II

BID NO: 2021-0989

BID DATE: June 30, 2021

DEPARTMENT: Capital Improvement

| BID DA | ATE: June 30, 2 | 021                    |                                     |      |                |                |                    |                 |                  | DEPARTM    | IENT: Capital Imp | rovement |
|--------|-----------------|------------------------|-------------------------------------|------|----------------|----------------|--------------------|-----------------|------------------|------------|-------------------|----------|
|        |                 |                        |                                     |      |                | Horizone Co    | nstruction I, Ltd. | Martinez Bros ( | Contractors, LLC |            |                   |          |
|        |                 |                        |                                     |      |                | EI P           | aso, TX            | El Pa           | so, TX           |            |                   |          |
|        |                 |                        |                                     |      |                | BIDDE          | R 4 OF 5           | BIDDE           | R 5 OF 5         |            |                   |          |
|        | ITEM-Co         | de                     |                                     |      |                |                |                    |                 |                  |            |                   | DEPT     |
| No.    | Item<br>No.     | S.P<br>No.             | BRIEF DESCRIPTION OF ITEM           | UNIT | Approx<br>Qty. | Unit Price     | Total Amount       | Unit Price      | Total Amount     | Unit Price | Total Amount      | USE      |
|        |                 |                        |                                     |      | BASE BII       | D I UNIT PRICE | SCHEDULE           |                 |                  |            |                   |          |
|        |                 |                        |                                     |      | TXD            | OT CSJ: 0924   | 4-06-602           |                 |                  |            |                   |          |
| 34     | ELP7 6001       |                        | COLORED CONCRETE PAVING (6")        | SY   | 72             | \$62.50        | \$4,500.00         | \$89.70         | \$6,458.40       |            |                   |          |
| 35     | ELP8 6001       |                        | CONCRETE SIDEWALK PAVING (6")       | SY   | 120            | \$55.50        | \$6,660.00         | \$55.20         | \$6,624.00       |            |                   |          |
| 36     | ELP9 6001       |                        | MINOR STONE COLUMN                  | EA   | 3              | \$3,200.00     | \$9,600.00         | \$586.50        | \$1,759.50       |            |                   |          |
| 37     | ELP10 6001      |                        | DISTANCE MARKERS                    | EA   | 2              | \$900.00       | \$1,800.00         | \$138.00        | \$276.00         |            |                   |          |
| 38     | ELP11 6001      |                        | WAYFINDING SIGNS                    | EA   | 3              | \$755.00       | \$2,265.00         | \$816.50        | \$2,449.50       |            |                   |          |
| 39     | ELP13 6001      |                        | FIBER REINFORCED CONCRETE<br>HEADER | LF   | 6,714          | \$8.20         | \$55,054.80        | \$12.65         | \$84,932.10      |            |                   |          |
|        |                 | Su                     | m Total (Base Bid and Mobilization) |      |                |                | \$560,000.00       |                 | \$487,537.04     |            |                   |          |
|        |                 | Amendment Acknowledged |                                     |      |                |                | Yes                | Y               | es               |            |                   |          |
|        |                 |                        | Bid Bond                            |      |                |                | Yes                | Y               | es               |            |                   |          |

|          | 2021 0000 Place Pro                        | in Trail Dhaga II                     |
|----------|--|---------------------------------------|
|          | 2021-0989 Playa Drai<br>Viewlis            |                                       |
| 1        |  |                                       |
| 2        | 814 Solutions Seedin                       | Stribling, Sam                        |
| 3        | AAA General Contrato  AAndS Contractors In | Skertchly, Edgar                      |
| 4        |  | Armendariz, Socorro<br>Gallegos, Mari |
| 5        | Abescape Accent Landscape Con              | Counts, Tim                           |
| 6        | Allen Concrete Inc.                        | Magdaleno, Jesus                      |
| 7        | AMTEK                                      | Rugh, John                            |
| 8        | APACHE BARRICADE And                       | SALAZAR, ART                          |
| 9        | Atom Electric EP, LL                       | Ramirez, Adam                         |
| 10       | Aztec Contractors In                       | Leanos, Nancy                         |
| 11       | Best Ironworks                             | Guardado, Carlos                      |
| 12       | Black Stallion Contr                       | Luna, Hector                          |
| 13       | Bowen Industrial Con                       | Hessney, Steve                        |
| 14       | BT Constructors                            | Banis, Daniel                         |
| 15       | CAndE Industrial Ser                       | Hernandez, Joe                        |
| 16       | CEA Group                                  | Concha, David                         |
| 17       | Civil Associates, In                       | Hernandez, Eddie                      |
| 18       | ConstructConnect                           | Kyle, Bellomy                         |
| 19       | Construction Journal                       | Exton, Pamela                         |
| 20       | Construction Reporte                       | Wood, Jane                            |
| 21       | Contractors Register                       | Deg, Maria                            |
| 22       | CSA Constructors                           | Oney, Hilary                          |
| 23       | dayrep                                     | Lowman, Henry                         |
| 24       | DEL MAR CONTRACTING,                       | HARRISON, MIKE                        |
| 25       | Deltek                                     | Management, Source                    |
| 26       | Direx Construction,                        | Hudson, Brad                          |
| 27       | Dodge Data And Analy                       | Loganathan, Jayalakshmi               |
| 28       | DRS Rock Materials,                        | Soto, Daniel                          |
| 29       | EMINENT GENERAL CONT                       | RAMOS, RAFAEL                         |
| 30       | GCC Sun City Materia                       | Rivas, Fernando                       |
| 31       | Globe Builders, LLC                        | Banks, Archie                         |
| 32       | Greenfields Outdoor                        | Vasquez, Frank                        |
| 33       | HAWK                                       | Jorge, Ojeda                          |
| 34       | Horizone constructio                       | RAFAEL, ALONSO                        |
| 35       | i- Sourcing Technolo                       | Balai, Rakesh                         |
| 36       | Integrated Marketing                       | Cody, Brannon                         |
| 37<br>38 | J.A.R                                      | Guillermo, Ovies                      |
|          | J.A.R Concrete, Inc                        | Valenzuela, Jesus<br>Lowrance, Gloria |
| 39<br>40 | Jobe Materials, L.P. Jordan Foster Constr  | Figueroa, Joseph                      |
| 41       | Keystone Contractors                       | Campos, Jesus                         |
| 42       | Lizandro Naranjo                           | Naranjo, Lizandro                     |
| 43       | Martinez Brothers Co                       | mota, pablo                           |
| 44       | MTI Ready Mix                              | Drapes, Michael                       |
| 45       | Pride General Contra                       | Salgado, Ramon                        |
| 46       | Prime Vendor Inc.                          | Jones, Kim                            |
| 47       | Smartprocure                               | Bjornsson, Ron                        |
| 48       | Star Pavers Construc                       | Yahve, Gallegos                       |
| 49       | The Planit Room                            | Hernandez, Cecilia                    |
| 50       | Wayne Enterprises                          | Austin, Fork                          |
| 51       | Wilson And Company                         | Davis, Teri                           |
| 52       |  | James, Hardison                       |
| 53       |  | Banquil, Lovely                       |
| 54       |  | Martinez, Jessica                     |
| 55       |  | Watson, Frank                         |
| 56       |  | RAMIREZ, ARTURO                       |
| 57       |  | Gallegos, Yahve                       |
| 58       |  | Ortiz, Cano                           |